
Quest ce que le cadeau  D' - ? ( )Quel nombre se trouve dans chaque cadeau?
48 ÷ 12 = 12 ÷ 3 = 44 ÷ 4 =12 ÷ 2 = 54 ÷ 6 = 80 ÷ 10 =32 ÷ 8 = 35 ÷ 5 = 84 ÷ 12 =25 ÷ 5 = 32 ÷ 8 = 10 ÷ 2 =20 ÷ 10 = 12 ÷ 6 = 110 ÷ 11 =49 ÷ = 7 66 ÷ = 11 14 ÷ = 724 ÷ = 8 12 ÷ = 6 96 ÷ = 1216 ÷ = 4 40 ÷ = 4 20 ÷ = 572 ÷ = 8 24 ÷ = 12 30 ÷ = 390 ÷ = 9 54 ÷ = 9 80 ÷ = 10÷ 11 = 3 ÷ 3 = 6 ÷ 9 = 5÷ 4 = 7 ÷ 3 = 2 ÷ 3 = 9÷ 11 = 9 ÷ 5 = 7 ÷ 6 = 2÷ 7 = 4 ÷ 12 = 2 ÷ 7 = 7÷ 4 = 12 ÷ 12 = 12 ÷ 12 = 8
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Quest ce que le cadeau  D  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
48 ÷ 12 = 4 12 ÷ 3 = 4 44 ÷ 4 = 1112 ÷ 2 = 6 54 ÷ 6 = 9 80 ÷ 10 = 832 ÷ 8 = 4 35 ÷ 5 = 7 84 ÷ 12 = 725 ÷ 5 = 5 32 ÷ 8 = 4 10 ÷ 2 = 520 ÷ 10 = 2 12 ÷ 6 = 2 110 ÷ 11 = 1049 ÷ 7 = 7 66 ÷ 6 = 11 14 ÷ 2 = 724 ÷ 3 = 8 12 ÷ 2 = 6 96 ÷ 8 = 1216 ÷ 4 = 4 40 ÷ 10 = 4 20 ÷ 4 = 572 ÷ 9 = 8 24 ÷ 2 = 12 30 ÷ 10 = 390 ÷ 10 = 9 54 ÷ 6 = 9 80 ÷ 8 = 1033 ÷ 11 = 3 18 ÷ 3 = 6 45 ÷ 9 = 528 ÷ 4 = 7 6 ÷ 3 = 2 27 ÷ 3 = 999 ÷ 11 = 9 35 ÷ 5 = 7 12 ÷ 6 = 228 ÷ 7 = 4 24 ÷ 12 = 2 49 ÷ 7 = 748 ÷ 4 = 12 144 ÷ 12 = 12 96 ÷ 12 = 8
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